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A O

oK # X A HEH 5 £ it

001 T & B 503 528 625 1,153
002 T x BT 711 784 809 1,593
03| + #H H fr 356 329 322 651
004 | = % i) 948 1,131 1,074 2,205
005 | X R i) 711 798 864 1,662
006 | £ & F M 1,336 1,528 1,471 2,999
007 | #& B i) 165 231 190 421
008 | 5 it i) 794 869 938 1,807
009 | K & i) 556 717 721 1,438
010 | & H i) 1,173 1,468 1,548 3,016
ol | £ B F H 735 835 866 1,701
012 | # i) 897 1,092 1,265 2,357
013 | 3h H i) 565 702 763 1,465
014 | & R i) 854 1,001 1,035 2,036
015 | & BX i) 114 132 160 292
061 XRHE—TH 29 28 20 48
062 | X B —TH 225 203 195 398
063 | XFEHET=TBH 14 30 39 69
064 | XFET M TH 90 80 112 192
0711 | X% AE—TH 33 28 33 61
072 | £HBABR_-TH 231 222 203 425

A

a-F| # X £ ks 3 = g
081 mE — TBH 0 0 0 0
082 | M BT — T B 27 758 72 830
083 | M8 BT = T H 160 147 161 308
091 | Az BT — T B 79 76 96 172
092 | s BT = T B 86 234 377 611
101 A E—TBH 108 108 96 204
111 +tEHE—TEH 105 124 108 232
112 +TESHEZ-TH 81 67 64 131
113 | rEHB=TH 100 102 109 211
114 | FEHBWTH 157 152 167 319
115 | FEHBATH 141 114 151 265
116 | FEHBEIATH 146 124 134 258
117 | rEHBETH 124 134 156 290
118 | +EHBEIATEH 157 154 144 298
121 EBFH—TH 71 63 80 143
122 EBFHM_-TH 52 66 67 133
123 EBFH=TEH 66 60 77 137
124 | EBRFHEOTH 68 70 53 123
125 | EBEFEATH 83 94 95 189
126 | EEFEIATH 140 122 122 244
127 | EBFELETH 136 93 139 232

& it 13,127 15,598 15,721 31,319




